EAGRAROBREERT — 2 N— ABISH —F

2020658170 (H) 2EEH6H

m 3—4 Yo% 3% ‘ [xz] 2 ‘ emsm]l — | 4 (%) 16000 R&
[A&4£] 1 7 :400,000 @ ~ 2 3#&:140,000  ~ 33#&:80,000 ~ 43#%&:60,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
\ 3 | ANERE 1:47.2 2-2-2-1 |40.9| — 6 488 | BAARHEE (BH)
10 6|/ NV 56.0 [ © | o SR hEaL
R:bS>tEP R B:avIq7>7Yy RIS
s KFRAE 147, ~4-3~ . = HEEX (SH)
olgliy| TN —$ 81 L IR Tt | T e [ =
L:70F—v BNFI—> R77—L4
f 3 | EEE 1:48.0 10-8-7-5 [40.9| — 4 M5 | REMEEH (FH)
32| TR Y- *50.0 (1) W) | ) TR REYa>
R:/G1URN B:IT7IFa—-)b HE77—L4
N REE—BR : -1-1- — NBEE (FH)
alzlg|v—r¥70% 3 e 1.(428).4 1-1-1-3 | 42.2 8 (4_728) Wk
R:7—9T7+—2 B:IOXFLAFII INTr—L
N . BARER 148, —9-9- . — NEHBEE (FH)
50111 A4S aUyEY # 3 ;.Oﬁ 1(;8@5 6-9-9-7 | 40.7 3 (i;t;) e =
RiAL Y3 K—F— BRI FAX TV ARG
- 2 75) 11434 .48, -7-8- . = HEENX (SH)
e 7| 15X77F% SRt o7 S IR 2 e
L:o-xI>J0r B:T7q4—-7)—1— =Eivie
N . . ks . P _ =E— (&)
71719 | EZ R —= v T TS (11418/29) AR R 0 :‘; fﬂ%é*u
RixvyUgdyEk BiIrRANILY Ml 77— 14
== 43 | Wik 1:49.4 8-10-10-8 | 41.4 | — 9 433 | REA (&)
8 4 727 AXAHh— b 54.0 (2 1/2) +3) %ﬂ‘%&ﬁ
L:VENIH— BTAIvFIL—X T A 31Ty — LSt
s . LHFE :51. —-5-5- . — BBk (SH)
9/5|5 hErbITaTIN "3 56.0 1(531)1 AR e ° (4_571) %EE% -
LT/ =X/ B:5T14T7—-Ta ES=ITIE Y )
> . 3 ZHEBHD :51. 24~ Al = FIRFEE ()
10/ 8110 P A 3 §53.0 1(531)7 MR R B :,977) 5@9‘1%@}&
Ri*xfa9R—5— B:A42aydEaR AE K
— o — =S : —11-11- — ITHER (FH)
1 3| FNRTTFS i 3 2l 1.(5;.3 11-11-11-11{ 42.8 7 (i;; e
R:d4 7 hN7—EY B:21-70=7 TJr7=Z—klNT7—L
® 1 —F—EBIERL
13=7r= 8,6,10,5,11,1,9,4,7,2,3
23 =7= 8,(6,10),11,5,9,7,2,1,4,3
30—7+— 8,6,11,10,5,9,2,7,1,4,3
41—+ — 6,11,8,9,2,7,1,4,10,5,3
[ N3
B O 6 2,010 714K 6-11 760M e 6-8 340M 3JEHE 2-6-11 7,250
8 B 6 390H 2-6 1,760M B = 6-11 2,540M K31 6-11-2 97,730
1 120 2-11 400 | | B B 6-11 9,450
2 150/

ARICOVWTRDTEEERROODE. TR LI,




